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Q.1 Select the most appropriate option to substitute the underlined segment. If no
substitution is required, select ‘No substitution required’.

You will never become a good reader until reading_are done with a purpose.
Ans X 1. No substitution required

X 2. when reading has
< 3. until reading will be

& 4. unless reading is

Question ID : 65497816522
Chosen Option : 4

Q.2 Select the most appropriate meaning of the given idiom.

Fly the nest
Ans X 1. Children returning home after studying abroad

2% 2. To run at a very fast pace to reach home
< 3. To lose direction and not reach one’s destination

" 4. Children leaving their parents’ home to live on their own

Question ID : 65497816529
Chosen Option : 2

Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required.’

Many industrialists are coming onward to help migrant workers find employment in
their villages and cities.

Ans X 1. No substitution required
25 2. towards

" 3. forward
< 4. backward

Question ID : 65497815312
Chosen Option : 3




Q.4 Select the most appropriate one-word substitution for the given group of words.
A gentle song sung to put a child to sleep

Ans o 1. Lullaby

< 2. Chorus

< 3. Prayer

25 4. Hymn

Question ID : 65497816531
Chosen Option : 1

Q.5 Select the most appropriate option to substitute the underlined segment in the given
sentence.

When have you been waiting for me here?
Ans  # 1. How long

25 2. How far

25 3. What time

< 4. How late

Question ID : 65497817533
Chosen Option : 1

Q.6 Select the most appropriate ANTONYM of the given word.
SUBTLE
Ans X 1. crafty
¥ 2. harsh
25 3. faint
< 4. slight

Question ID : 65497816526
Chosen Option : 1

Q.7 Select the INCORRECTLY spelt word.
Ans X 1.Manual

" 2. Grajual
25 3. Mutual
& 4. Usual

Question ID : 65497816533
Chosen Option : 2




Q.8 Fill in the blank with the most appropriate word.

These discount coupons are _______ for only six months from the date of issue.
Ans X 1. attested
X 2. tested
¥ 3. valid
< 4. solid

Question ID : 65497816535
Chosen Option : 3

Q.9 Select the most appropriate synonym of the given word.

STERN
Ans o 1. strict

* 2. mild
< 3. lenient

< 4. gentle

Question ID : 65497816527
Chosen Option : 1

Q.10 Identify the segment in the sentence which contains a grammatical error.

Why did you spent so much money on old and useless furniture?
Ans X 1.and useless furniture
< 2. so much money
" 3. Why did you spent
< 4.0nold

Question ID : 65497816512
Chosen Option : 3

Q.11 Select the most appropriate synonym of the given word.
PROVOKE
Ans o 1. enrage
X 2. gratify
< 3. placate
25 4. hinder

Question ID : 65497816528
Chosen Option : 1




Q.12 Identify the segment in the sentence which contains a grammatical error.

They went on talking while the teacher were teaching an important lesson.
Ans X 1. while the
# 2. teacher were teaching
#< 3. an important lesson

25 4. They went on talking

Question ID : 65497816511
Chosen Option : 2

Q.13 Select the most appropriate one-word substitution for the given group of words.

Undue favour shown to one’s relatives
Ans & 1. Nepotism
< 2. Nationalism
< 3. Despotism
25 4. Narcissism

Question ID : 65497816532
Chosen Option : 1

Q.14 Fill in the blank with the most appropriate word.

My employers my salary last year.

Ans X 1.rise
X 2. rose
< 3. raise
" 4. raised

Question ID : 65497816515
Chosen Option : 4

Q.15 Fill in the blank with the most appropriate word.

| am tired reminding you to clean your room.
Ans X 1.at

X 2.by
o 3.0f
X 4. to

Question ID : 65497816514
Chosen Option : 3




Q.16 Fill in the blank with the most appropriate word.

Swami Dayanand the Arya Samaj.
Ans X 1.invented

< 2. developed
«” 3. founded
#5 4. discovered

Question ID : 65497816536
Chosen Option : 3

Q.17 Select the most appropriate ANTONYM of the given word.

CEASE
Ans X 1.stop

X 2. catch

< 3. halt
o 4. start

Question ID : 65497816525
Chosen Option : 4

Q.18 Identify the segment in the sentence which contains a grammatical error.

The elegance furnished drawing room indicated that the owner had good taste.
Ans X 1.drawing room indicated

< 2. that the owner
< 3. had good taste
" 4. The elegance furnished

Question ID : 65497816513
Chosen Option : 1

Q.19 Select the INCORRECTLY spelt word.
Ans X 1. Mediocre

25 2. Legible
< 3. Opaque
" 4. Sugestion

Question ID : 65497816534
Chosen Option : 4




Q.20

Ans

Select the most appropriate meaning of the given idiom.

Your guess is as good as mine
25 1. To have the same idea as another

4" 2. To have no idea of the answer
< 3. To play a guessing game

5 4. To have a better idea than others

Question ID : 65497816530
Chosen Option : 1

Q.21
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Albert soon got to learn the language of (1) native people. Now, he could talk to
(2) about their problems. They too began to (3) him for advice. Some people,
(4) , were too shy to share their concerns. Albert eventually (5) them that he

was there to assist them in all matters.

SubQuestion No : 21
Select the most appropriate option to fill in the blank number 1.

S 1.a

X 2. an
" 3. the
< 4.one

Question ID : 65497816517
Chosen Option : 3

Q.22
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Albert soon got to learn the language of (1) native people. Now, he could talk to
(2) about their problems. They too began to (3) him for advice. Some people,
(4) , were too shy to share their concerns. Albert eventually (5) them that he

was there to assist them in all matters.

SubQuestion No : 22
Select the most appropriate option to fill in the blank number 2.
" 1. them

< 2.you
< 3. himself
X 4.us

Question ID : 65497816518
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Albert soon got to learn the language of (1) native people. Now, he could talk to

(2) about their problems. They too began to (3) him for advice. Some people,
(4) , were too shy to share their concerns. Albert eventually (5) them that he
was there to assist them in all matters.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in the blank number 3.
Ans X 1.appear

«# 2. approach
< 3. advance

25 4. arrange

Question ID : 65497816519
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Albert soon got to learn the language of (1) native people. Now, he could talk to

(2) about their problems. They too began to (3) him for advice. Some people,
(4) , were too shy to share their concerns. Albert eventually (5) them that he
was there to assist them in all matters.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in the blank number 4.
Ans X 1.furthermore

" 2. however
< 3. therefore

< 4. moreover

Question ID : 65497816520
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Albert soon got to learn the language of (1) native people. Now, he could talk to
(2) about their problems. They too began to (3) him for advice. Some people,
(4) , were too shy to share their concerns. Albert eventually (5) them that he

was there to assist them in all matters.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in the blank number 5.
Ans  # 1. assured

5 2. settled
< 3. decided
5 4. confirmed

Question ID : 65497816521
Chosen Option : 1

Section : General Intelligence and Reasoning




Q.1 Among six objects F, G, H, J, Kand L:

i. H is twice as heavy as K, and J is one and half times as heavy as F.
ii. G is half as heavy as J.

iii. F and J together are less heavy than H.

iv. J and L together are twice as heavy as F.

If the objects are arranged in descending order of their weight, which object will be
second from the bottom?

Ans X 1.K
X 2L
& 3.F
& 4.G

Question ID : 65497816151
Chosen Option : 4

Q.2 Select the option that is related to the third number in the same way as the second
number is related to the first number.

7:294::9:7?
Ans o 1.648
< 2.576
< 3.881
X 4.452

Question ID : 65497816135
Chosen Option : 1




Q@3 Which option figure would come next in the following figure series?

Ans

o 1.

X
]

Question ID : 65497816152
Chosen Option : 1

Q.4 Choose the set of numbers that is similar to the following set.
{21, 29, 20}
Ans 4 1.{8, 17,15}
X 2.{19, 28,17}
X 3.{33, 35, 12}
X 4.{7, 26, 24}

Question ID : 65497816136
Chosen Option : 1

Q.5 If WIDOWER is coded as VKAOXCU, then how would FORTIFY be coded?
Ans 1. EQOTJDB

7 2. GMUSHDV
% 3.EOQSJCD
% 4. EPPTHDC

Question ID : 65497816140
Chosen Option : 1




Ans

O

rd

Q.6  Select the option in which the given figure is embedded (rotation is NOT allowed).

Question ID : 65497816154
Chosen Option : 3

Ans

Q.7 If POUNDAGE is coded as NOPUEGAD, then how would STAMPING be coded?

«" 1. AMSTGNIP
< 2. TSMGNPIA
< 3. TAMSGINP
& 4. AMTSGNIP

Question ID : 65497816139
Chosen Option : 4




Q.8

Select the mirror image of the figure marked *X’, when the mirror is placed on the right side of the figure.

$
i
(x)
Ans
r ¢
iy
& 2. 3 ¢
< 3.
4L
x4 3 /
Question ID : 65497816155
Chosen Option : 2
Q.9 If ‘FESTIVE’ is coded as “16113215011° and ‘HUNGER'’ is coded as ‘1427815114, then

how will ‘GRUDGE’ be coded?

Ans X 1.12457111851
25 2.14527811151
25 3.15241718511
o 4. 15427181511
Question ID : 65497816142
Chosen Option : 4
Q.10 Two statements are followed by two conclusions numbered | and Il. Assuming the

Ans

statements to be true even if they do not conform to real-world knowledge, decide
which of the conclusions logically follows/follow from the statements.

Statements:
1. Some streams are rivers.
2. Noriver is a lake.

Conclusions:
I. No stream is a lake.
li. Some rivers are streams.

< 1. Only conclusion | follows
4" 2. Only conclusion Il follows
25 3. Neither conclusion | nor conclusion Il follows

25 4. Both conclusions | and Il follow

Question ID : 65497816147
Chosen Option : 2




Q.11 Six boys A, B, C, D, E and F are standing in a queue.

i. There are two boys between B and D, and D is just in front of E.
ii. A and C are adjacent to B.
iii. A is just behind E, and C is just in front of F.

Which two boys are exactly in the middle positions?
Ans X 1.BandC
K 2.CandD
2 3. AandE
o 4. Aand B

Question ID : 65497816149
Chosen Option : 4

Q.12 If the signs + and x are interchanged, then which of the following equations would be
correct?

Ans X 1.9x3-7+9=19
X 2.10x5+10+10=10
X 3.4+8+6x3=8
& 4.18x3+12+8=20

Question ID : 65497816133
Chosen Option : 4

Q.13 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

LOTTERY : WQMTBTF : : SECULAR : ?
Ans X 1.BDRTQZK
X 2. GTFUCUM
« 3. FGTUUCM
X 4.DFTUSBM

Question ID : 65497816143
Chosen Option : --

Q.14 Eight friends P, Q, R, S, T, U, V and W are sitting in a row facing North.

i. Q sits to the immediate right of P, who is at one of the extreme ends of the line.
ii. Q sits third to the left of T.

iii. There are two persons between W and T.

iv. U is not an immediate neighbour of S and sits to the immediate left of V.

v. There are three persons between V and R.

Who are sitting between Q and T?
Ans ¢ 1.RandS
X 2.UandV
< 3.Rand U
& 4.Vand S

Question ID : 65497816150
Chosen Option : --




Q.15 ‘Literature’ is related to ‘Poetry’ in the same way as ‘Painting’ is related to * .
Ans X 1. Colour

" 2. Portrait
75 3. Expression
< 4. Frame

Question ID : 65497816145
Chosen Option : 2

Q.16 Which two signs should be interchanged to make the given equation correct?

10+5-4x3+6=13
Ans o 1. +and+

5 2. -and x
25 3. +and x
X 4. +and-

Question ID : 65497816134
Chosen Option : 1

Q.17 Selacr the option figure. which when placed in the blank space of the figure marked *X' would complete the parrarn.

x)

A
ns . &

X
=

o 3.

|7 7

Question ID : 65497816153
Chosen Option : 3




Q.18 If CROWN is coded as 68 and DEPEND is coded as 42, then how would IMAGERY be
coded?

Ans X 1.68
X 2.67
o 3.71
X 4.73

Question ID : 65497816141
Chosen Option : 3

Q.19 Which number will replace the question mark (?) in the following number series?

7,9, 13, 16, 25, 29, ?, 50
Ans X 1.47
X 238
X 3.41
o 4.45

Question ID : 65497816138
Chosen Option : 4

Q.20 ‘Play’ is related to ‘Actor’ in the same way as ‘Concert’ is related to * .
Ans X 1. Symphony

< 2. Piano
" 3. Musician
725 4. Director

Question ID : 65497816144
Chosen Option : 3




Q.21 Select the Venn diagram that best illustrates the relationship among the following classes.

Women, Employed, Mothers

Ans
. @
. .
. @
Question ID : 65497816157
Chosen Option : 3
Q.22 Three statements are followed by three conclusions numbered I, Il and lll. Assuming

Ans

the statements to be true even if they do not conform to real-world knowledge, decide
which of the conclusions logically follows/follow from the statements.

Statements:

1. All towns are cities.

2. No city is a village.

3. Some cities are corporations.

Conclusions:

|. Some corporations are villages.
Il. Some towns are corporations.
lll. No corporation is a village.

#< 1. Only conclusion | follows
25 2. Only conclusions | and Il follow
«# 3. Either conclusion | or conclusion Il follows

< 4. Only conclusion Il follows

Question ID : 65497816148
Chosen Option : 3




Q.23 Thessquence of folding a pisce of paper and the manner in which the folded paper has been cut is shown in the figures
below. How would the paper look when unfolded?

()l ~ S‘C’ i @‘“\_ E

Ans /-T

x 1. E}l:l[}'

&2 DI:I{J
A

Question ID : 65497816156
Chosen Option : 2

Q.24 Which letter-cluster will replace the question mark (?) in the following series?
PMOR, RNNP, TOMN, VPLL, ?
Ans X 1.XRJK
o 2. XQKJ
% 3.vQdd
X 4.YQKJ

Question ID : 65497816146
Chosen Option : 2

Q.25 Which number will replace the question mark (?) in the following number series?
91, 100, 94, 97, 101, 90, 112, ?
Ans X 1.83
K 2.123
5 3.87
o 4.79

Question ID : 65497816137
Chosen Option : 4

Section : Numerical Aptitude




Q.1 What will be the compound interest on a sum of 322,500 at the rate of 16% per annum for 1 year, when interest is

compounded half vearly?

Ans 1. 33,744
X 2. 3,700
X 3. 33,600
X 4. 36,244

Question ID : 65497818090
Chosen Option : 1

Q.2 12 mencancomplets a painting work in § days, However, 16 women can complete the same painting work in 12 days. 8
men started painfing the house. After & days of painting, 2 men were replaced by 4 women. Now how many days will

they take to complete the remaining painting?

Ans 5 1 4
2.0
X3 8
x4 5

Question ID : 65497818078
Chosen Option : --

Q.3  Analmirah was sald at a profit of 15%. If its cost had been 3% fess and it bad been sold for 1,470 less, then the profit
would have been 10%. What is the cost price of the almirah?

Ans 1. 314,000
X 2. 29,400
X 3. 16,100
X 4. 32,94.000

Question ID : 65497818086
Chosen Option : 1




Q.4 The year-wise student enrollment of two schools over a period of 5 years has been presented in the following bar graph.

Year-wise number of students

m
=
i

2
s 5

A5 2016 07 2018 2013

Number of students
- BEEE58 888

Veas

ESchoal 1 mSchod 2

In which year is the difference of enrollment in the two schools, the least?

Ans 1. 2015
X2 2016
X3 2018
X4 2017

Question ID : 65497818099
Chosen Option : 1

Q.5 ot e e —F=n
The simpljﬁed T 119 —[48=6—7{53 %12 =3 - (15-3 -8 )}]
24=3—-9%0f3+ (52 -8—-4)}+6

15z

Ans 111
1.7 =
o 11

127

X2 ——r0

27

X3 127
" a3
111

X4 ——

11

Question ID : 65497818300
Chosen Option : 1

Q.6  Awire is in the form of a square of side 33 cm. If the wire is molded to form a circle, then what is the radius of the
circle?

22

(Usen =

Ans 1. 2]l cm
<2 33cm
X3 16.5cm
X4 42 cm

Question ID : 65497818093
Chosen Option : 1




Q.7 From a wooden cubical block of side 10 em, a sphers of radivs 4.2 em is carved out. How much wood is wasted in the

process? (Use = 22)
Ans X 1.476.2 cm®
+ 2. 689.536 cm?®
<3 310.464 cm?®
X4 5238cm?

Question ID : 65497818095
Chosen Option : 2

Q.8 The product of two positive numbers is 1344 and their ratio is 7 : 12. The smaller of these numbers is:

Ans X116
v2 28
X3 112
X4 48

Question ID : 65497818087
Chosen Option : 2

Q.9  Two dealers offer an ltem at the same marked price T3.000. The first dealer allows successive discounts of 10% and

15%, The other dealer allows suecessive discounts of 2026 and 5%. Find the difference in the selling price of the item
under the two offers.

Ans 1 L5
X2 220
X3 310
x4 325

Question ID : 65497818083
Chosen Option : 1

Q.10 A bus moves from station A towards station B, which is at a distance of 189 km. An hour later, a car, the ratio of whoss
speed with the bus is 3 : 2, starts from station A and moves towards station B . Find the speed of the bus (in km/h), if the
car arrives at station B half an hour earlier than the bus.

Ans X 1. 4]
X2 378
3 42
X 4. 63

Question ID : 65497818080
Chosen Option : --




Q.11  Kavita purchased fabric worth T800 for a dress, and spent 350 on embroidery and stitching. If she sold the dress ata
profit of 20%, then the selling price is:

Ans X1 T1,220
v 2 31,380
X3 T1,500
x4 T1,310

Question ID : 65497818085
Chosen Option : 2

Q.12 Ina joint family of 16 persons, the eldest and the youngest members have an age difference of 82 years. If these two are
left out of the counting, then the average age of the remaining 14 persons is 28, The average age of the entire family
being 30, what is the age of the eldest person?

Ans 1. 85 years
X 2. 88 years
X 3. 76 years
X 4. 060 years

Question ID : 65497818082
Chosen Option : 1

Q13 1f the mode of the following data is 11, then find the value of k .

11, 8,9, (2k—1), 11,12, 12, 18, 14, 16
LUCHE

2.6

X3 7

x4 4

Question ID : 65497818092
Chosen Option : 2

Q.14 The average of 9 numbers is 19, If the average of the first four numbers is 14, then the average of the last 5 numbers is:

Ans X 1. 20
X2 10
X3 2525
4 23

Question ID : 65497818081
Chosen Option : 4




Q.15 Two numbers differ by 10. If their LCM is 120 and HCF is 10, then the sum of the numbers is:
Ans X' 1. 130

<2 120

« 370

X 4. 50

Question ID : 65497818096
Chosen Option : 3

™ Ihe value of(lﬁz + 1{}) - [G-X 45) af% +§ X % = (1 + l)] is:

4 28
Ans X111
X235
30
x4 10

Question ID : 65497816178
Chosen Option : 3

Q.17 The following graph shows the production of earron eloth (in lakh metres) by three companies A, B and C over the
years.

Production of Cotton Cloth

2
E
Cdo
8
-] # 2
~
= nI )
1596 1997 1998 1993
Years

mA ®E BEC

Froduction in Lakh Metres
= 2 ¥ g 8o
a5
55
52

Tn which year the production of company C is 81.94 24 (correct to 2 decimal places) of the combined production of
company A and company B?

Ans X 1. 1996
« 2. 1998
2 3. 2000
X 4 1999

Question ID : 65497818101
Chosen Option : 2




. @ container has a 50 litre of juice and water in the ratio 3 : 2, To this, a itre juice and water mixture is

Q18 A ntainer has a 50 litre mixture of juice and inthe 312 Tothis, a 60 Li d wat tn
added, that has a juice to water ratio of 2 : 1. After this. 11 litres of the solution is replaced with pure juice. What is the
ratio of water to juice in the final mixture?

Ans  X'1.37:18
X2 29:81
X3 4:7
¥4 18:37

Question ID : 65497818089
Chosen Option : 1

Q.19 The cost of leveling a square field at the rate of T52/m” is T1,30,000. What will be the cost of fencing its boundary at the
rate of T35/m?

Ans X 1. 2,500
¢ 2 37,000
X 3. ¥87.500
X 4. 33,500

Question ID : 65497818094
Chosen Option : 2

Q.20 Sears ina collage fora B. Se. cenrse for Physics, Chemistry and Biology, are in the propartion 7: 5 8. Thare isa
propozal to increase these seats by S0%, 40% and 25%, respectively. What will be the proportion of increased seats?

Ans 1. 12:9:33
2 21:14:20
X3 57:45:33
X4 7:4:4

Question ID : 65497818088
Chosen Option : 2

Q.21 A survey was conducted on 80 families 1o know about their most favourite place to visit out of 6 particular locations.
The same has been shown in the following pie chart.

What is the central angle for the families who showed interest for visiting Taipur?
Ans X 1. 15°
X2 25°
¥ 3. 54°
X 4. [0°

Question ID : 65497818100
Chosen Option : 3




Q.22 Ankit invests some money at 9% simple interest for 2 years, and the same sum for 4 vears at 10% per annum. He earns
T1.740 in all. The sum invested in each case is:

Ans X 1. 34,350
¢ 2. 33,000
X 3. 6,000
X 4. 74,500

Question ID : 65497818091
Chosen Option : 2

Q.23  Ais 30% meore efficient than B. If B finishes a worlc in 13 days, then in how many days will A finish the same work?

Ans X 1. 11
X209
3 10
X4 12

Question ID : 65497818077
Chosen Option : 3

Q.24 Atypist uses a paper of size 32 cm * 20 com. He leaves a margin of 2 cm each on all the sides. If he leaves a margin of 1
cm only on all the sides, then what is the percentage of the increase in the area available for typing {correct to 2 decimal
places)?

Ans 1. 20.54%
X 2. 82.96%
X 3. 17.04%
X 4.79.46%

Question ID : 65497818084
Chosen Option : 1

Q.25 Amit covers a certain distance on his bike at a speed of 40 knv'h in |5 min. If he wants to cover the same distance in 12
min. then what should his speed be?

Ans X 1. 60 km/h
¢ 2. 50 km'h
X 3. 72 km'h
X4 32 km'h

Question ID : 65497818079
Chosen Option : 2

Section : General Awareness




Q.1 Who among the following built the first European fort in India in the year 15037
Ans X 1.Dutch

2 2. British
25 3. French
«# 4. Portuguese

Question ID : 65497817620
Chosen Option : 4

Q.2 Which state became the first fully organic farming state in India in 2016?
Ans X 1.Assam

& 2. Sikkim
< 3. Punjab
X 4. Goa

Question ID : 65497817602
Chosen Option : 2

Q.3 Which part of the world has the highest density of population as of September 20207
Ans X 1.East Australia

25 2. North America
< 3. East Africa
" 4. South Central Asia

Question ID : 65497817618
Chosen Option : --

Q.4 What do you call the transparent front part of the eye?
Ans 1. Cornea

75 2. Retina
< 3. Pupil
< 4. Iris

Question ID : 65497817613
Chosen Option : 1

Q.5 Which Indian city was included in the UNESCO Creative Cities Network for its
contribution to music in November 2017?

Ans X 1. Nagpur
#< 2. Vadodara
#< 3.Bengaluru
" 4. Chennai

Question ID : 65497817603
Chosen Option : --




Q.6 Which of the following is an essential element used in the synthesis of proteins in
plants?

Ans X 1. Calcium
< 2. Sodium
#< 3. Chlorine
" 4. Nitrogen

Question ID : 65497817612
Chosen Option : 4

Q.7 The Chalukya Dynasty ruled in Vatapi which is in the modern day Indian state of

Ans X 1.Kerala

25 2. Gujarat

«" 3. Karnataka
< 4. Tamil Nadu

Question ID : 65497817621
Chosen Option : 3

Q.8 Which Indian Lawn Tennis player became the first Asian player to win the Boys’
Singles title at Wimbledon in 19547

Ans & 1. Ramanathan Krishnan
X 2. Ramesh Krishnan

#< 3. Anand Amritraj

25 4. Vijay Amritraj

Question ID : 65497817601
Chosen Option : 1

Q.9 Which of the following is one of the main active sulphur-containing compounds
present in garlic and onion?

Ans 4 1. Allicin
< 2. Cellulose
25 3. Ethanol
< 4. Phenol

Question ID : 65497817615
Chosen Option : --

Q.10 Pochampally Ikat sarees and dress materials, famous for their traditional geometric
patterns, belong to the state of

Ans o 1. Telangana
25 2. Tamil Nadu
< 3. Karnataka
< 4. Kerala

Question ID : 65497817598
Chosen Option : --




Q.11 What kind of a traditional sport is 'Vallam Kali'?
Ans X 1.Boxing

25 2. Running
«" 3. Boat racing
< 4. Wrestling

Question ID : 65497817600
Chosen Option : 3

Q.12 'Ratvai’ is a dance form associated with the tribes of India.
Ans o 1. Mewati

25 2. Khasi

25 3. Jatapus

< 4.Bhil

Question ID : 65497817597
Chosen Option : --

Q.13 'Muya Awandru' is a traditional food of this Indian state.
Ans X 1. Gujarat

X 2. Karnataka

< 3. Chhattisgarh

" 4. Tripura

Question ID : 65497817599
Chosen Option : --

Q.14 A paper instructing the bank to pay a specific amount from a person's account to
another person in whose name it has been issued is known as:

Ans X 1.cash
" 2. cheque
25 3. passbook

< 4. currency

Question ID : 65497818110
Chosen Option : 2

Q.15 Who among the following was appointed as the First Lieutenant Governor of Ladakh in
October 2019?

Ans ¢ 1. Radha Krishna Mathur
25 2. Anil Baijal
< 3. Dineshwar Sharma
< 4. Girish Chandra Murmu

Question ID : 65497817608
Chosen Option : 4




Q.16 If two forces act on an object from opposite directions, then the magnitude of the net
force acting on it is the of the magnitudes of the two forces.

Ans X 1. product
< 2.sum
< 3. ratio
«# 4. difference

Question ID : 65497817611
Chosen Option : 4

Q.17 What is the maximum amount of investment permissible per senior citizen under
Pradhan Mantri Vaya Vandana Yojana?

Ans X 1.%10 lakh

o 2.%15 lakh
25 3.7 lakh
25 4.%25 lakh
Question ID : 65497815889
Chosen Option : 1
Q.18 India and Pakistan had signed the , under which the two countries agreed to

sort out differences and disputes bilaterally.
Ans X 1. Calcutta Pact

& 2. Simla Pact
< 3. Lucknow Pact
25 4. Agra Pact

Question ID : 65497817610
Chosen Option : 2

Q.19 Rani Rudrama Devi was a famous ruler of the dynasty.
Ans X 1.Pandya

«" 2. Kakatiya
< 3. Chola
< 4. Chera

Question ID : 65497817619
Chosen Option : 2

Q.20 In which year did India give shelter to Dalai Lama, the Tibetan spiritual leader?
Ans X 1.1962

X 2.1957
X 3.1960
& 4.1959

Question ID : 65497817609
Chosen Option : --




Q.21 Which of the following is a low grade brown coal that is soft with high moisture
content?

Ans X 1.Bituminous
< 2. Anthracite
< 3. Peat

" 4. Lignite

Question ID : 65497817617
Chosen Option : 3

Q.22 What do you call one of the most famous constellations that we can see during
summer time in the early part of the night?

Ans X 1. Cassiopeia
25 2. Ursa Minor
25 3. Orion
¥ 4. Ursa Major

Question ID : 65497817614
Chosen Option : 4

Q.23 In terms of coal reserves, India’s rank in the world as of April 2020 was:
Ans X 1.ninth

o 2. fifth
25 3. seventh
% 4. third

Question ID : 65497817616
Chosen Option : --

Q.24 Who among the following helped Kaira District Co-operative Milk Producers’ Union Ltd
expand its work, ushering in the White Revolution?

Ans 1. Verghese Kurien
X 2. Azar Igbal
< 3. Baba Amte
< 4. Sunderlal Bahuguna

Question ID : 65497817607
Chosen Option : 1

Q.25 ‘Ace against Odds’ is an autobiography by
Ans X 1.Hima Das

# 2. Sania Mirza
#< 3. Dutee Chand
< 4. Mary Kom

Question ID : 65497817604
Chosen Option : 3
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Q.1 Select the most appropriate word to fill in the blank.

The priest’s sermon had a calming
Ans o 1. effect

on everybody.

< 2. change

< 3. study
X 4. chance

Question ID : 65497815728
Chosen Option : 1

Q.2 Identify the segment in the sentence which contains a grammatical error.

Playing in the park is one of the thing that small children really love.
Ans X 1.inthe park

< 2. really love
25 3. that small children
” 4. one of the thing

Question ID : 65497815705
Chosen Option : 4

Q.3 Select the INCORRECTLY spelt word.
Ans X 1. Caused

25 2. Croton
" 3. Coutious
< 4. Crayon

Question ID : 65497815726
Chosen Option : 3




Q.4 Select the most appropriate ANTONYM of the given word.

DELIBERATE
Ans X 1. Thoughtful

< 2. lliterate
«" 3. Spontaneous
25 4. Careful

Question ID : 65497815718
Chosen Option : 2

Q.5 Identify the segment in the sentence which contains a grammatical error.

The sports teacher was elated when his team was won the state football
championship.

Ans X 1. when his team
" 2. was won
75 3. The sports teacher
< 4. was elated

Question ID : 65497815703
Chosen Option : 2

Q.6 Select the most appropriate ANTONYM of the given word.

PERMANENT
Ans X 1. Lasting

725 2. Stable
«" 3. Temporary
< 4. Constant

Question ID : 65497815717
Chosen Option : 3

Q.7 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

Thousands of people gathered between the stadium to attend the rally.
Ans X 1.gathered on to

< 2. gathered over
25 3. No substitution required
" 4. gathered at

Question ID : 65497815714
Chosen Option : 4




Q.8

Ans

Select the most appropriate word to fill in the blank.

There are a lot of things that to a healthy lifestyle.
< 1. contributing

# 2. contribute
#< 3. contributed
#< 4. contributes

Question ID : 65497815707
Chosen Option : 2

Q.9 Select the most appropriate option to substitute the underlined segment in the given

Ans

sentence. If there is no need to substitute it, select ‘No substitution required’.

The company has the number of festival offers coming up soon.
#< 1. No substitution required

" 2. a number of
#5< 3. an number of
25 4. few number of

Question ID : 65497814908
Chosen Option : 2

Q.10 Select the most appropriate word to fill in the blank.

Ans

Dubai is like an oasis the middle of a desert.

K 1.to
& 2.in
25 3.0n
< 4. over

Question ID : 65497815706
Chosen Option : 2

Q.11
Ans

Select the INCORRECTLY spelt word.
< 1. Partly

< 2. Parity
25 3. Paired

" 4. Prepaired

Question ID : 65497815725
Chosen Option : 2




Q.12 Select the most appropriate synonym of the given word.

PRACTICAL
Ans X 1. Everlasting

# 2. Sensible
< 3. Applicable
5 4. Theoretical

Question ID : 65497815719
Chosen Option : 3

Q.13 Select the most appropriate synonym of the given word.

HARDLY
Ans X 1. Adequately

«# 2. Barely
< 3. Roughly
25 4. Strongly

Question ID : 65497815720
Chosen Option : 2

Q.14 Select the word which means the same as the group of words given.

The science or practice of drawing maps
Ans X 1. Geology

< 2. Anthology

< 3. Graphology
" 4. Cartography

Question ID : 65497815723
Chosen Option : 4

Q.15 Identify the segment in the sentence which contains a grammatical error.

Much villagers attended the feast hosted by the village panchayat.
Ans X 1.the village panchayat

< 2. hosted by
#< 3. attended the feast
" 4. Much villagers

Question ID : 65497815704
Chosen Option : 4




Q.16 Select the most appropriate meaning of the given idiom.

Horses for courses
Ans  # 1. Different people are suited for different jobs

X 2. The same horse can run in different race courses in order to win
#< 3. The same person can do many jobs and give good results

#5 4. Horses are mainly bred for race courses and are winners

Question ID : 65497815722
Chosen Option : 1

Q.17 Select the most appropriate word to fill in the blank.
In spite of many __ we managed to go ahead with our tree plantation drive.
Ans X 1. moments
25 2. confirmations
" 3. restrictions

5 4. affirmations

Question ID : 65497815727
Chosen Option : 3

Q.18 Select the word which means the same as the group of words given.

A very steep or overhanging rock face or cliff on a mountain
Ans X 1.Edge
" 2. Precipice
< 3. Slope
25 4. Hill

Question ID : 65497815724
Chosen Option : --

Q.19 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

This silver glass will shine if you rub by lemon peel.

Ans X 1. No substitution required
o 2. rub it with
25 3. rubbed it by
< 4. rubbing it by

Question ID : 65497817129
Chosen Option : 2




Q.20

Ans

Select the most appropriate meaning of the given idiom.

Many a slip between the cup and the lip
< 1. The work is going as per plan and must be completed

X 2. The cup is slippery and likely to break if you are not careful
< 3. The teais too hot and likely to burn the lips

" 4. Bad things may happen before the task is finished

Question ID : 65497815721
Chosen Option : 4

Q.21
Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The Defence Minister complimented the IAF for its rapid deployment of assets at forward
locations (1) response to the border row with China in eastern Ladakh. The current

combat readiness has sent a strong message to our (2) , he said. In an address to the
top commanders of (3) IAF on the opening day of a three-day conference, the defence
minister said the nation’s resolve to defend its sovereignty (4) firm and that the people

of the country have full confidence in the (5) of its armed forces.

SubQuestion No : 21
Select the most appropriate option to fill in blank no. 1.

& 1.in
< 2.0n
< 3. with
X 4. to

Question ID : 65497815709
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The Defence Minister complimented the IAF for its rapid deployment of assets at forward
locations (1) response to the border row with China in eastern Ladakh. The current
combat readiness has sent a strong message to our (2) , he said. In an address to the
top commanders of (3) IAF on the opening day of a three-day conference, the defence
minister said the nation’s resolve to defend its sovereignty (4) firm and that the people
of the country have full confidence in the (5) of its armed forces.

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank no. 2.

Ans

25 1. messengers
< 2. terrorists
¥ 3. adversaries

5 4. friends

Question ID : 65497815710
Chosen Option : 1




Q.23
Ans

Comprehension:
In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The Defence Minister complimented the IAF for its rapid deployment of assets at forward
locations (1) response to the border row with China in eastern Ladakh. The current
combat readiness has sent a strong message to our (2) , he said. In an address to the
top commanders of (3) IAF on the opening day of a three-day conference, the defence
minister said the nation’s resolve to defend its sovereignty (4) firm and that the people
of the country have full confidence in the (5) of its armed forces.

SubQuestion No : 23

Select the most appropriate option to fill in blank no. 3.

< 1.one
X 2.an

o 3. the
X 4a

Question ID : 65497815711
Chosen Option : 2

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The Defence Minister complimented the IAF for its rapid deployment of assets at forward
locations (1) response to the border row with China in eastern Ladakh. The current
combat readiness has sent a strong message to our (2) , he said. In an address to the
top commanders of (3) IAF on the opening day of a three-day conference, the defence
minister said the nation’s resolve to defend its sovereignty (4) firm and that the people
of the country have full confidence in the (5) of its armed forces.

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank no. 4.

Ans

" 1. stands

5 2. were standing
2% 3. standing

< 4.is stood

Question ID : 65497815712
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

The Defence Minister complimented the IAF for its rapid deployment of assets at forward
locations (1) response to the border row with China in eastern Ladakh. The current
combat readiness has sent a strong message to our (2) , he said. In an address to the
top commanders of (3) IAF on the opening day of a three-day conference, the defence
minister said the nation’s resolve to defend its sovereignty (4) firm and that the people
of the country have full confidence in the (5) of its armed forces.

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank no. 5.

Ans

«# 1. capability
25 2. availability
X 3. sensibility
< 4. probability

Question ID : 65497815713
Chosen Option : 1

Section : General Intelligence and Reasoning

Q1

Ans

A paper is folded at the dotted lines as shown in the first two figures. and cut as shown in the third figure. How will it
appear when unfolded?

UL
X1

[Tl

g1
| 0

1

1!
| ]

[1 I

0 [0
x4

0 O

Question ID : 65497816964
Chosen Option : 2




Q.2 Arrange the following in a logical and meaningful order.
I. Assistant Professor

Il. PGT
lll. Professor
IV. Associate Professor
Ans X 1.1 1,111V
221,00, 0,1
SV L
& 4 LIV L

Question ID : 65497816959
Chosen Option : 4

Q.3 Select the correct combination of mathematical signs to sequentially replace the *
signs and balance the given equation.

17*3*6*2*7*55
Ans o 1% — =+ =
K2 -+ + % =
K3+, -, =
Kb -+ + x =

Question ID : 65497816942
Chosen Option : --

Q.4 Select the combination of letters that when sequentially placed in the blanks of the
given letter series will complete the series.

J__G_KP___PGJ

Ans X 1. GJPKIK
X 2. PUKGJK
o 3. KPJGJK
X 4. KJPGKJ

Question ID : 65497816954
Chosen Option : 3




Q.5 Select the option figure which is NOT embedded in the given figure (rotation is NOT allowed).

Ans

&3

x4

N\
7~
<
f
.

Question ID : 65497816962
Chosen Option : 3

Q.6 Two statements are given, followed by two conclusions. Assuming the statements to
be true, even if they seem to be at variance with commonly known facts, decide which

Ans

of the conclusions logically follow(s) from the statements.

Statements:
1. All animals are white.
2. No reptile is white.

Conclusions:
I. No reptile is an animal.
Il. Some whites are animals.

" 1. Both conclusions | and Il follow.
25 2. Only conclusion | follows.

#5 3. Only conclusion Il follows.

< 4. Neither conclusion | nor Il follows.

Question ID : 65497816955
Chosen Option : 1




Q.7 Complete the missing portion of the given pattern by selecting from the given options.

?
kul
Ans
X 1.
2 A
X 3

xe A

Question ID : 65497816961
Chosen Option : 2

Q.8 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

COLD : GTRK : : MICE : ?
Ans X 1.RMGL
% 2. QNGL
o 3. QNIL
% 4. QMGL

Question ID : 65497816951
Chosen Option : 3

Q.9 Which two signs should be interchanged to make the given equation correct?

8x4-7+8+2=35
Ans o 1. +and -

K 2. +and -
5 3.—and x
< 4.xand +

Question ID : 65497816941
Chosen Option : 1




Q.10 Inrthe given figure, the circle represents kids who can write”, the rectangle represents ‘kids who can read’, and the
triangle represents “kids who can sing”. Which part of the figure represents “kids who can write but CANNOT sing™?

Ans i a,b,de
X2 b,e
X3 ac
X4 ad

Question ID : 65497816965
Chosen Option : 1

Q.11 Select the figure from the options that can replace the question mark (?) and complete the following figure series.

Al o] |[v]] ?

Ans

vi| | <

Question ID : 65497816960
Chosen Option : 1




Q.12 In a certain code language, '274' means 'you are fool’, 137" means 'Rohan is fool’, and
'893' means 'Riya likes Rohan'. Which of the options may be the code for 'Riya'?

Ans X 1.3
& 2.9
X 3.4
X 4.7

Question ID : 65497816950
Chosen Option : 2

Q.13 If in a code language, 'WICE' is written as 'XGFA', then how will 'WELL' be written in
the same code language?

Ans X 1.XAO0O
X 2. XAHH
« 3. XCOH
X 4.XCHO

Question ID : 65497816947
Chosen Option : 3

Q.14 Select the number that can replace the question mark (?) in the given number series.

30, 42, 56, 72, ?, 110
Ans X 1.102

X 2.88
o 3.90
X 4.92

Question ID : 65497816945
Chosen Option : --

Q.15 In a certain code language, '274' means 'God is great', '137' means 'l worship God', and
'752"' means 'God is omnipotent'. Which of the options is the code for 'omnipotent'?

Ans X 1.7
X 2.4
X 3.3
& 4.5

Question ID : 65497816949
Chosen Option : 4

Q.16 Select the number that can replace the question mark (?) in the given number series.
6,7,13, 20, 33, 53, ?
Ans X 1.73
o 2.86
< 3.89
X 4.79

Question ID : 65497816946
Chosen Option : --




Q.17 Select the option in which the number-pair does NOT share the same relationship as
shared by the given number-pair.

9:738
Ans X 1.6:222
o 2.8:157
X 3.7:350
X 4.4:681

Question ID : 65497816943
Chosen Option : 1

Q.18 Select the set of numbers from the given options which is similar to the given set.
(272, 353, 452)
Ans  # 1.(560, 443, 263)
X 2.(617, 813, 215)
25 3.(901, 456, 791)
5 4.(459, 781, 972)

Question ID : 65497816944
Chosen Option : --

Q.19 Six students, A, B, C, D, E and F, are standing facing north, but not necessarily in the
same sequence. A is at one of the corners and F is beside him. B is to the immediate
right of E. B is at the second place from the right end. C is not beside F.

Who is standing third from the right side?
Ans  1.E
X 2.F
K 3.C
X 4.D

Question ID : 65497816957
Chosen Option : 1

Q.20 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Sweet : Sour::End: ?
Ans X 1.New
25 2. Move
«" 3. Beginning
< 4. First

Question ID : 65497816952
Chosen Option : 3




Q.21 If in a code language, 'BEAM' is written as 'YVZN', then how will '"HELP' be written in
the same code language?

Ans X 1.EVKO
o 2. SVOK
X 3.SVKQ
X 4.EVKQ

Question ID : 65497816948
Chosen Option : 2

Q.22 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Square : Side : : Circle : ?
Ans X 1.Area

o 2. Arc
#< 3. Radius
< 4. Diameter

Question ID : 65497816953
Chosen Option : 3

Q.23 select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.

Ans

&1

Question ID : 65497816963
Chosen Option : 1




Q.24 There are seven row houses, M, N, O, P, Q, R and S, in a campus, but not necessarily in
the same sequence. P is not at any of the ends. R is to the immediate right of P. S is
third from the left. O is at the left end. M is second from the right. O is not besides N.

Where is R located?

Ans X 1. Fourth from the right
25 2. Second from the left
< 3. At the right end
" 4. Third from the right

Question ID : 65497816958
Chosen Option : 4

Q.25 Three statements are given, followed by four conclusions. Assuming the statements to
be true, even if they seem to be at variance with commonly known facts, decide which
of the conclusions logically follow(s) from the statements.

Statements:

1. Some women can cook well.

2. All women who can cook well are dancers.
3. Some dancers are players.

Conclusions:

I. No dancer can cook well.
Il. No dancer is a woman.

lll. Some players are women.
IV. No player is a woman.

Ans  &# 1. Either conclusion Il or IV follows.
< 2. Both conclusions Il and IV follow.
< 3. Only conclusion Il follows.

25 4. Both conclusions | and Il follow.

Question ID : 65497816956
Chosen Option : 1

Section : Numerical Aptitude

Q.1 Two numbers A and B are, respectively, 20% and 56% more than a third number C. The ratio of the numbers A to B is:

Ans 1. 10: 13

X2 10:17
K3 11313
X4 7:11

Question ID : 65497815562
Chosen Option : 1




Q-2 17 tne diameter of the base of a cone is 24 em and its curved surface area is 1395; em?, then its height is:
(Take m= ?)

Ans 1. 35cm

X2 32em

X3 30 cm

X4 36em

Question ID : 65497815569
Chosen Option : 1

Q3 Twerve years ago, the ratio of the ages of Anil and Bishu was 5 : 12. Eight years from now., the ratio of their ages will
be 10: 17. What is the ratic of the present ages of Anil and Bishu?

Ans X 1.9:16

« 2. 8:15
X<35:8
<4.7:13

Question ID : 65497815564
Chosen Option : 2

Q.4  A's monthly salary is 20% mors than B's monthly salary, C's monthly salary is T25,000 more than B's monthly salary.
Their total monthly salary is 2 65.000. The salary of B is what perceniage of that of €2

Ans 1. 75%
X 2. 55%
X 3. 60%
X 4. T70%

Question ID : 65497815559
Chosen Option : --

Q.5 What is the compound interest on a sum of 212,600 for 1> years at 20% p.a., if the interest is compounded half-
It 3 p mp.
yearly? (Nearest to a )

Ans X 1. 24,251

v 2 34,171
X 3.34,169

X 4. 34260

Question ID : 65497815565
Chosen Option : --




Q.6 Raghav lent ¥7.500 to Gopal for three years and 75,000 to Sachin for four years on simple interest at the same rate of
interest, and received 3,570 in all from both as interest. The interest paid by Sachin is:

Ans X1 T1.580
X2 T1,500
« 3 31,680
X 4. T1,600

Question ID : 65497815566
Chosen Option : --

Q.7 Varun can do a work in 28 days. In how many days can the work be completed by Sarvesh, if the efficiency of Sarvesh
is 40% maore than that of Varun?

Ans X 1. 18 days
X 2. 16 days
« 3. 20 days
X 4. 15 days

Question ID : 65497815552
Chosen Option : 3

Q.8 Study the following pie chart and table and answer the question given below.
The given chart represents the percentage distribution of the population of six villages A. B. C.D.E and F in

Village A
Village B
10%

Village | Percentage of population
below the poverty line
30%

2016.

A

B 45%
C 55%
D 60%
E

F

58%
40%

If the population below the poverty line in village D is 12408. then the population below the poverty line in
village F is:

Ans 1. 10340
X 2. 10240
# 3. 10440
X 410300

Question ID : 65497815576
Chosen Option : --




Q.9 Acandoapiece of work in 12 days for 6 hours per day, and B can do it in 8 days for 7 hours per day. How long will
thev take 1o do the work, working together. for @ hours a day?

Ans X 1. 4 days

X 2. = days

X 3. - days

« 4. — days

by | =1 B o |un

Question ID : 65497815553
Chosen Option : 4

Q.10 The baze of a wiangle is 8.5 em and heighr is L4 cm. The heighr of another triangle, having base 14 em and double the
area of the first triangle, is:

Ans 1. 17 cm
X2 15cm
X3 lécm
X4 14 cm

Question ID : 65497815568
Chosen Option : 1

Q.11 Ifthe height of a eylinder is increased by 30%. and the radius of its base is decreased by 1 5%, then by what percentage
will its curved surface area change?

Ans X 1. 10%
X2 12%
< 3. 8%
+ 4 10.5%

Question ID : 65497815570
Chosen Option : 4

Q12 Thesales for 5 days are given as: T5,000. T6.000, T8.000. T7.000 and T9.000. What must the sales be on the 6™ day so
that the average becomes 83,5007

Ans 1. 316,000
X 2. 12,000
X 3. ¥15.000
X 4. %10,000

Question ID : 65497815556
Chosen Option : 1




Q.13 A person reaches his destination 32 minutes late if his speed is 6 km/h, and he reaches 18 minutes before time if his
speed is 7 km'h. Find the distance of his destination from his starting point.

Ans X 1. 28 km
X 2. 30 km
X3 32 km
¢ 4 35 km

Question ID : 65497815554
Chosen Option : 4

Q.14 Study the following pie chart and table and answer the question given below.

The given chart represents the percentage distribution of the population of six villages A. B. C. D.Eand F in
2016.

Village A

Village | Percentage of population
below the poverty line
A 30%
B 45%
C 55%
D 60%
E

F

58%
40%

The difference in the central angles of villages B and E is:

Ans X1 220
X2 25°
3. 18°

K4 1s°

Question ID : 65497815574
Chosen Option : --

Q.15 By selling an articte for T1,500, double the profit is obtained than the profit that would have been obtained by selling it
for 1,350, Find the cost price of the article.

Ans X1, Z1,100
¢ 2 T1,200
x 3. 1,400
K 4. T1,000

Question ID : 65497815560
Chosen Option : 2




Q16 Thevalueof4x2+30f12—3+-2x(2—-3)x24+3+20f3 is:

Ans 59

x 1.
18

13
* 2. i

i8

67
3 —
i8

23
x4 =2
]

Question ID : 65497817087
Chosen Option : 3

Q.17  Anil Kumar sold an article to Bajat for T15,000 by losing 25%, Rajat sells it to David at a price that would have given
Anil Kumar a profit of 5%. The profit percentage earned by Rajar is:

Ans X 1. 25%
« 2. 40%
X 3. 42%
X 4 30%

Question ID : 65497815561
Chosen Option : --

Q.18 A man travelled a distance of 47 ki in 6 hours, He travelled partly on foot at the rate ofﬁ‘;l km'h, and partly on bicyele

at the rate of 8% lawh, The distance travelled on foot is:

Ans 1. 13 km
# 2 15km
X3 12 km
X4 16 km

Question ID : 65497815555
Chosen Option : --

Q.19 The sum of five numbers A, B. C. D and E is 37.5. The averags of Aand B is 6. and the average of D and E is 9. The
average of A, B and C is:

Ans X1. 7.5
X2 6
3. 6.5
X4 55

Question ID : 65497815557
Chosen Option : 3




Q.20 The least number of square tiles required to pave the ceiling of a room, 12 m 95 cm long and 3 m 85 cm broad, is:

Ans X 1. 14225
W 2. 14245
X 3. 14000
X 4. 12425

Question ID : 65497815571
Chosen Option : --

Q.21  Anarticle is listed at 13,000 and the discount offered is 12%. What additional discount must be given to bring the nat
selling price to 12,0787

Ans X 1. 7.5%
2. 8.5%
x 3. 9%
X 4 8%

Question ID : 65497815558
Chosen Option : --

Q.22 Arsctangular water reservoir contains 126 kilolitres of water. The depth of the reservoir is 3.5 m and its length measures

& m, What is the width of the reservou?

Ans 1. 45m
X2 42m
X3 4m
X4 5m

Question ID : 65497814866
Chosen Option : --




Q.23 Study the following pie chart and table and answer the question given below.
The given chart represents the percentage distribution of the population of six villages A. B, C.D.Eand F in
2016.

Village A

Village B
10%

Village | Percentage of population
below the poverty line

30%

45%

55%

60%

58%

40%

| om| O 0 W

If the population below the poverty line in village A is 42000, then the population above the poverty line in
village A is:

Ans X 1. 95000
X 2. 85000

« 3. 98000
X 4. 88000

Question ID : 65497815575
Chosen Option : --

Q.24 If the ratio of the mode and median of a certain data is 9 : 8, then the ratio of its mean and median is:

Ans X 1.15:17

X2 13:15
3 15:16
X4 11:15

Question ID : 65497815567
Chosen Option : --

Q.25 pyspead of dividing 3,910 among P. ¢ and R in the ratio Eé

1
a

. by mistake it was divided in the ratic 4 : 5 : 8. By how
much did R gain in this ransaction?

Ans 1. 3990
X 2. 3940
X 3. ¥890
X 43900

Question ID : 65497815563
Chosen Option : --

Section : General Awareness




Q.1 Which of the following statements is NOT true?
Ans X 1. Elephants sleep for only two to four hours in a day.

" 2. Elephants use their tails to keep themselves cool.
#5 3. Elephants love to play with mud and water.

< 4. An adult elephant can eat more than 100 kilograms of leaves and twigs in one day.

Question ID : 65497816500
Chosen Option : --

Q.2 Which of the following is a comprehensive and in-depth analysis of a country’s
financial sector, done jointly by the World Bank and IMF in developing and emerging
market countries?

Ans X 1. Evaluation and Monitoring of the Financial Sector
75 2. Developing Economies Financial Audit Scheme
«" 3. Financial Sector Assessment Program

#< 4. Finance and Socio Economic Audit Scheme

Question ID : 65497817505
Chosen Option : --

Q.3 Dashain is the longest and the most important festival of
Ans X 1. Myanmar

< 2. Bhutan
25 3. SriLanka

" 4. Nepal

Question ID : 65497816487
Chosen Option : --

Q.4 Which of the following awards was presented to Ramesh Sippy at the Filmfare Awards
20207

Ans X 1.Best Director
75 2. Best Original Story
" 3. Lifetime Achievement Award

< 4. Excellence in Cinema

Question ID : 65497816491
Chosen Option : --

Q.5 Tooth decay is caused by .
Ans X 1.viruses

¥ 2. bacteria

< 3. fungi
X 4. protozoa

Question ID : 65497816501
Chosen Option : 2




Q.6 When dried raisins are placed in a concentrated salt solution, they
Ans X 1. first shrink and then swell

X 2. swell
" 3. shrink

< 4. remain the same size

Question ID : 65497816502
Chosen Option : 2

Q.7 Military commanders in Akbar’s empire were called *
Ans & 1. faujdars

< 2. bakhshis
5 3. kotwals
< 4. diwans

Question ID : 65497816510
Chosen Option : 1

Q.8 Which of the following rivers does NOT rise in the Nepal Himalayas?
Ans X 1.Kosi

«” 2. Narmada
< 3. Gandak
25 4. Ghaghara

Question ID : 65497816505
Chosen Option : 2

Q.9 Which of the following statements is NOT true about plateaus?
Ans X 1. The Deccan plateau is one of the oldest plateaus in India.

5 2. A plateau is an elevated flat land.
#< 3. Plateaus are rich in mineral deposits.

" 4. The Marwar plateau is the highest plateau in the world.

Question ID : 65497816506
Chosen Option : 4

Q.10 Which of the following monuments is located in the state of Karnataka?
Ans & 1. Gol Gumbaz

25 2. Bara Imambara
25 3. Charminar
< 4. Qutub Minar

Question ID : 65497816486
Chosen Option : 1




Q.11 Complete the statement: Sodium hydrogen carbonate is used
Ans X 1. for removing permanent hardness of water

#5 2. as a cleaning agent for domestic purposes
«" 3. in soda-acid fire extinguishers

< 4. in the manufacture of borax

Question ID : 65497816503
Chosen Option : 3

Q.12 The Nanda Devi Fair is organised in the Kumaon region in the month of every
year.

Ans X 1. December
< 2. May
#< 3. February
" 4. September

Question ID : 65497816488
Chosen Option : --

Q.13 Murshid Quli Khan was the Nawab of .
Ans X 1. Awadh

25 2. Lucknow

¥ 3. Bengal
< 4. Hyderabad

Question ID : 65497816509
Chosen Option : --

Q.14 Who won the Styrian Grand Prix Formula 1 racing championship in July 2020?
Ans X 1. Valtteri Bottas

< 2. Max Verstappen
#< 3. Sebastian Vettel
" 4. Lewis Hamilton

Question ID : 65497816490
Chosen Option : --

Q.15 Which of the following statements is NOT true?

Ans & 1. Fiscal policy deals with the supply of money in the economy and the rate of interest.

< 2. Fiscal policy includes tax policy, expenditure policy, investment or disinvestment
strategies and debt or surplus management.

#< 3. Fiscal policy is linked with general economic policy strategy of the country.

75 4. The government deals with fiscal policy.

Question ID : 65497816496
Chosen Option : --




Q.16 In 1526, defeated Ibrahim Lodi at Panipat and captured Delhi and Agra.
Ans X 1. Genghis Khan

25 2. Miran Shah
«" 3. Babur
< 4. Timur

Question ID : 65497816508
Chosen Option : 3

Q.17 A clinical thermometer reads the temperature from
Ans X 1.25°Cto 32°C

2 2.38°Ct0 48°C
< 3.32°Ct0 38°C
o 4.35°C 10 42°C

Question ID : 65497816504
Chosen Option : 4

Q.18 The Indian Parliament passed the Citizenship (Amendment) Bill in the year
Ans X 1.2017

o 2.2019
25 3.2015
X 4.2016
Question ID : 65497816498
Chosen Option : 2
Q.19 According to the Motor Vehicles Act, 1988, no person under the age of years

shall be granted a learner’s license to drive a motor cycle without gear except with the
consent in writing of the person having the care of the person desiring the learner’s
license.

Ans X 1.twenty
«" 2. eighteen
25 3. seventeen

< 4. twenty-one

Question ID : 65497816497
Chosen Option : --

Q.20 Which of the following countries is an '"Associate Member' of the ICC (International
Cricket Council)?

Ans X 1.Afghanistan
< 2. Pakistan
< 3. Bangladesh

«" 4. Nepal

Question ID : 65497816489
Chosen Option : --




Q.21 Namami Gange Programme was approved by the Government of India in the year

Ans o 1.2014
< 2.2018
< 3.2019
X 4.2015

Question ID : 65497816507
Chosen Option : 1

Q.22 In which year was the Reserve Bank of India established?
Ans X 1.1942

X 2.1932
X 3.1947
o 4.1935

Question ID : 65497815383
Chosen Option : 4

Q.23 'The Adventures of Huckleberry Finn' is a book written by .
Ans X 1. Ruskin Bond

«" 2. Mark Twain
< 3. Rudyard Kipling
< 4. Lewis Carroll

Question ID : 65497816492
Chosen Option : --

Q.24 Which of the following Acts was passed by the Government of India to inquire into
allegations of corruption against certain public functionaries?

Ans X 1. Delimitation Act
X 2. Prevention of Money Laundering Act
#< 3. Central Vigilance Commission Act

«" 4. The Lokpal and Lokayukta Act

Question ID : 65497816499
Chosen Option : 3

Q.25 Who is the author of the book 'The Tales of Beedle The Bard'?
Ans X 1. Lewis Carroll

< 2. EB White
< 3. Roald Dahl
«" 4. JK Rowling

Question ID : 65497816493
Chosen Option : --
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Section : General English

Q.1 Select the most appropriate ANTONYM of the given word.

HEFTY

Ans X 1. handsome

< 2. generous

" 3. slight
X 4. liberal

Question ID : 65497814607
Chosen Option : --

Q.2 Select the most appropriate synonym of the given word.

SMUDGE
Ans o 1.stain

& 2. sweet

25 3.trash
X 4. mud

Question ID : 65497814608
Chosen Option : --

Q.3 Select the most appropriate option to fill in the blank.

The quarantine period for travellers by road into this State has been to 28 days.
Ans X 1.advanced

o 2.incre

ased

25 3. expanded
X 4. enlarged

Question ID : 65497814617
Chosen Option : 3




Q.4 Select the most appropriate one-word substitution for the given words.
The first people to live in an area

Ans X 1. Provincial

" 2. Native

< 3. Colonial

5 4. Local

Question ID : 65497814612
Chosen Option : 4

Q.5 Select the most appropriate meaning of the given idiom.

Fit as a fiddle
Ans & 1. To be in excellent health and good working order

25 2. About to buy a good musical instrument
< 3. Ready to start playing a fiddle

#< 4. To have an expensive musical instrument

Question ID : 65497814610
Chosen Option : 1

Q.6 Select the most appropriate option to fill in the blank.

After she received an overripe papaya, Vidya exclaimed that she would never ever
fruits online.

Ans o 1. order
25 2. ordered
75 3. orders
< 4. ordering

Question ID : 65497814595
Chosen Option : 1

Q.7 Select the MISSPELT word.
Ans X 1. Eminent

" 2. Tolarance

25 3. Weary
X 4. Happiness

Question ID : 65497814614
Chosen Option : 2




Q.8 Select the most appropriate meaning of the given idiom.

Elbow grease
Ans X 1. Oil on the shirt sleeve

#< 2. Too much cream on hands
#< 3. Stain on a car glass

«" 4. Alot of physical effort

Question ID : 65497814611
Chosen Option : 4

Q.9 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

Keep pets can be very comforting for most people.
Ans X 1.Keeping pet

25 2. Keeps pet
25 3. No substitution required

o 4. Keeping pets

Question ID : 65497814603
Chosen Option : 4

Q.10 Identify the segment in the sentence which contains a grammatical error.

According to the meteorology department, yesterday Assam had the heavier rainfall of
the decade.

Ans X 1.yesterday Assam had
" 2. the heavier rainfall of the decade
< 3. According to

X 4. the meteorology department

Question ID : 65497814593
Chosen Option : 2

Q.11 Identify the segment in the sentence which contains a grammatical error.

After the rain the roads was wet and waterlogged in some places.
Ans X 1. After the rain

< 2. wet and waterlogged
25 3.in some places.

” 4. the roads was

Question ID : 65497814592
Chosen Option : 4




Q.12 Select the most appropriate option to fill in the blank.

The Minister’s office press statement that the Webinar which had been held on
the previous day had received an excellent response.

Ans X 1. haveissue
75 2. issues
«” 3. issued
& 4. will issued

Question ID : 65497814596
Chosen Option : 3

Q.13 Select the most appropriate option to substitute the underlined segment in the given
sentence. If there is no need to substitute it, select ‘No substitution required’.

At first, we cruised in the local river beside trying anything more adventurous.
Ans X 1.already

«# 2. before
25 3. No substitution required
X 4. earlier

Question ID : 65497814402
Chosen Option : 2

Q.14 Identify the segment in the sentence which contains a grammatical error.

There was very poor receptivity due from technological glitches; nonetheless, the
online class was continued.

Ans X 1. There was very poor receptivity
X 2. the online class was continued
" 3. due from technological glitches

75 4. nonetheless

Question ID : 65497814594
Chosen Option : 3

Q.15 Select the most appropriate option to substitute the underlined segment. If no
substitution is required, select ‘No substitution required’.

The doctor asked the patient what he had ate the previous night.
Ans X 1. No substitution required
75 2. had he eaten
25 3. had he ate
«" 4. he had eaten

Question ID : 65497816524
Chosen Option : 4




Q.16 Select the most appropriate option to fill in the blank.

The patient’s family had to go through a lot of trouble to her into a hospital.

Ans X 1.join
# 2. admit
< 3. access

5 4. permit

Question ID : 65497814616
Chosen Option : 2

Q.17 Select the most appropriate synonym of the given word.

PRIORITY
Ans X 1. dignity

< 2. formality
< 3. paucity
" 4. precedence

Question ID : 65497814609
Chosen Option : 4

Q.18 Select the MISSPELT spelt word.
Ans X 1.Business

75 2. Dreadful
" 3. Emergensy
< 4. Inflammable

Question ID : 65497814615
Chosen Option : 3

Q.19 Select the most appropriate one-word substitution for the given words.

Special words and phrases used
by particular groups of people, especially in their work

Ans X 1. Dialogue
< 2. Elocution
2% 3. Conversation

«* 4. Jargon

Question ID : 65497814613
Chosen Option : 1




Q.20 Select the most appropriate ANTONYM of the given word.

FATIGUE
Ans  # 1.strength
25 2. control
< 3. weakness

< 4. threat

Question ID : 65497814606
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Lin Piao used to absent himself (1) classes very often and one day (2)
principal of the college made up his (3) to expel him. So he sent for the (4)
man. Lin arrived just (5) the principal was about to go for lunch. "Is this the time to
come?" said the principal, sternly.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans 4 1.from

X 2.in
25 3. for
X 4.t

Question ID : 65497814598
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Lin Piao used to absent himself (1) classes very often and one day (2)
principal of the college made up his (3) to expel him. So he sent for the (4)
man. Lin arrived just (5) the principal was about to go for lunch. "Is this the time to
come?" said the principal, sternly.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans X 1.a

5 2.an
25 3.some

o 4. the

Question ID : 65497814599
Chosen Option : 4




Q.23
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Lin Piao used to absent himself (1) classes very often and one day (2)
principal of the college made up his (3) to expel him. So he sent for the (4)
man. Lin arrived just (5) the principal was about to go for lunch. "Is this the time to

come?" said the principal, sternly.

SubQuestion No : 23

Select the most appropriate option to fill in blank no. 3.
5 1. brain
< 2. thought
«" 3. mind

25 4. head

Question ID

Chosen Option :

: 65497814600
3

Q.24
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Lin Piao used to absent himself (1) classes very often and one day (2)
principal of the college made up his (3) to expel him. So he sent for the (4)

man. Lin arrived just (5) the principal was about to go for lunch. "Is this the time to
come?" said the principal, sternly.

SubQuestion No : 24
Select the most appropriate option to fill in blank no. 4.

7< 1. immature
«" 2. young
< 3. youthful
25 4. childish

Question ID

Chosen Option :

: 65497814601
2

Q.25
Ans

Comprehension:

In the following passage some words have been deleted. Fill in the blanks with the help of the
alternatives given. Select the most appropriate option for each blank.

Lin Piao used to absent himself (1) classes very often and one day (2)
principal of the college made up his (3) to expel him. So he sent for the (4)

man. Lin arrived just (5) the principal was about to go for lunch. "Is this the time to
come?" said the principal, sternly.

SubQuestion No : 25
Select the most appropriate option to fill in blank no. 5.

25 1. also
& 2. why
< 3. how

o 4. as

Question ID

Chosen Option :

: 65497814602
4

Section : General Intelligence and Reasoning




Q.1 Select the option that is related to the third term in the same way as the second term is
related to the first term.

Square : Rectangle : : Rhombus : ?
Ans X 1. Cuboid

< 2. Trapezium

< 3. Kite
«# 4. Parallelogram

Question ID : 65497816751
Chosen Option : 4

Q.2 sSelect the correct mirror image of the given figure when the mirror is placed to the right side of the figure.

X

B
'E
|
[

Question ID : 65497816761
Chosen Option : 1

Q.3 ‘Kilogram’ is related to ‘Vegetables’ in the same way as ‘Litre’ is related to *
Ans X 1.Bananas

25 2. Pulses

o 3. Milk
< 4. Grass

Question ID : 65497816750
Chosen Option : 3




Ans

Q4 Find which figure is to be removed so that all, starting from I, fit into a pattern.

A

I II

X110
X2 I
X3V
VIS \Y

III v v

Question ID : 65497816758
Chosen Option : 4

Ans

o 4.

—

N\
.
a

Q.5 select the option figure which is NOT embedded in the given figure (rotation is NOT allowed).

Question ID : 65497816760
Chosen Option : 4




Q.6 Select the number that can replace the question mark (?) in the given number series.
121,57,21,5,?
Ans X 1.4
X 2.8
o 3.1
5 4.3

Question ID : 65497816744
Chosen Option : 3

Q.7 Three statements are given, followed by three conclusions. Assuming the statements
to be true, even if they seem to be at variance with commonly known facts, decide
which of the conclusions logically follow(s) from the statements.

Statements:

1. All children study in class V.
2. Some children go to coaching.
3. Some children are brilliant.

Conclusions:

1. All children who go to coaching are brilliant.

Il. Children who go to coaching also study in class V.
lll. All children who study in class V are not brilliant.

Ans X 1. Both conclusions | and Il follow,
< 2. Both conclusions Il and I1I follow.
2< 3. Only Ill follows.

«" 4. Only Il follows.

Question ID : 65497816754
Chosen Option : 4

Q.8 Six students, A, B, C, D, E and F, are standing facing north. They are not standing in
alphabetical order. A is at one corner and F is beside him. B is to the immediate right
of E. B is at the second place from the right end. C is not beside F. Who is standing at
the right end?

Ans X 1.A
X 2.E
X 3.D
& 4.C

Question ID : 65497816755
Chosen Option : 4

Q.9 Select the combination of letters that when sequentially placed in the blanks of the
given letter series will complete the series.

C__U_KzZU_K_uc
Ans # 1. KZCCZ

X 2.ZCKzC

& 3.UKZCK

X 4.CKzCz

Question ID : 65497816752
Chosen Option : 1




Q.10 Complete the missing portion of the given pattern by selecting from the given options.

“
N 2
Ans
X 1.
X 2
-~ 3.
o 4.

Question ID : 65497816759
Chosen Option : 4

Q.11 In a certain code language, '137' means 'who are you’', '274' means 'we are girls', and
'893' means 'you have toys'. Which of the following options is the code for ‘who'?

Ans X 1.8
o 2.1
X 3.3
X 4.7

Question ID : 65497816747
Chosen Option : 2

Q.12 If in a code language, 'ROSE’ is written as "'TSYM', then how will 'SOME' be written in
the same code language?

Ans ¢ 1.USSM
X 2. YSEM
X 3. YESM
X 4. USME

Question ID : 65497816745
Chosen Option : 1




Q.13 Select the number that can replace the question mark (?) in the given number series.

26, 37, 50, 65, ?, 101
Ans X 1.78
o 2.82
25 3.80
* 4,92

Question ID : 65497816743
Chosen Option : 2

Q.14 Three statements are given, followed by two conclusions. Assuming the statements to
be true, even if they seem to be at variance with commonly known facts, decide which
of the conclusions logically follow(s) from the statements.

Statements:

1. Suhani is a player.

2. No boy is a player.

3. All tall persons are players.

Conclusions:
I. Suhani is not an tall person.
Il. Boys are not tall persons.

Ans X 1. Neither conclusion | nor Il follows.
" 2. Only conclusion Il follows.
< 3. Both conclusions | and Il follow.

< 4. Only conclusion | follows.

Question ID : 65497816753
Chosen Option : 3

Q.15 Arrange the following in a logical and meaningful order. (decreasing order with their
heights)
I. Eiffel Tower
Il. Empire State Building
lll. Qutub Minar
IV. Burj Khalifa

Ans o 1 IV UL
2.0,
KO3
oA v

Question ID : 65497816757
Chosen Option : 2




Q.16 A paper is folded at the dotted lines as shown in the first two figures. and cut as shown in the third figure, How will it
appear when unfolded?

1
L i

Ans

4

Question ID : 65497816762
Chosen Option : 4

Q.17 Select the set of numbers from the given options which is NOT similar to the given set.
(12, 81, 15)
Ans X 1.(11,69,12)
% 2.(15, 93, 16)
" 3.(13,85,17)
X 4.(8,63,13)

Question ID : 65497816742
Chosen Option : 3




Q.18 Select the option in which the number-pair shares the same relationship as that
shared by the given number-pair.

347 : 117
Ans o 1.242:82

% 2.165:56
2 3.265: 88
X 4.135:48

Question ID : 65497816741
Chosen Option : 1

Q.19 In a certain code language, '137' means 'Mary went Jammu’', '274' means 'l like Mary’,
and '893' means 'you went Goa'. Which of the following options may be the code for
'‘Goa'?

Ans X 1.7

o 2.8
5 3.1

X 4.3

Question ID : 65497816748
Chosen Option : 2

Q.20 Select the correct combination of mathematical signs to sequentially replace the *
signs and balance the given equation.

7*2*5*4*2*15
Ans X 1.+ - 4 x =

K 2.- 5+, %=
,#3_+,x’—,+7:
A

Question ID : 65497816740
Chosen Option : 3

Q.21 There are seven row houses, M, N, O, P, Q, R and S, in a campus. They are not located
in alphabetical sequence. P is not at any end. R is to the immediate right of P. S is third

from the left. O is at the left end. M is second from the right. O is not with N. Where is
Q located?

Ans X 1. Third from the right
< 2. At the right end
" 3. Second from the left
25 4. Fourth from the right

Question ID : 65497816756
Chosen Option : 3




Q.22 If in a code language, 'SOLD' is written as '"HLOW', then how will 'ROME' be written in
the same code language?

Ans X 1.GLPK
o 2. ILNV
X 3. ILHW
X 4.GLPV

Question ID : 65497816746
Chosen Option : 2

Q.23 Which two signs should be interchanged to make the given equation correct?
3¥6-2+8%x4=18
Ans X 1.+and-
K 2. +and +
# 3. +and x
X 4. +and -

Question ID : 65497816739
Chosen Option : 3

Q.24 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

STEAM : PWBDJ : : DRESS : ?
Ans 1. AUBVP
% 2. AOHVP
2 3. AVBUP
X 4. AOBWV

Question ID : 65497816749
Chosen Option : 1

Q.25 Inthe given figure, the circle represents ‘kids who can sing’. the rectangle represents ‘kids who can play’, and the
triangle represents ‘lids who can dance”. Which part of the figure represents ‘kids who can dance but CANNOT sing?

Ans X' 1. g

Question ID : 65497816763
Chosen Option : 1

Section : Numerical Aptitude




Q.1 There were 1200 smudents in a hostel. If the mimber of smidents is increased by 300, then the expenses of the mess
increase by T3.000 per day. while the average expenditure per head diminishes by T5. The original expenditure of the

mess, per day, is:

Ans X 1. ¥52,000
X 2. T45.000
¢ 3 350,000
X 4. ¥55,000

Question ID : 65497816062
Chosen Option : 3

Q2 1 what time will T8.000 become T12,167 at 15% per annum, compounded annually?
Ans  » 1. 3 years
X 2. 2 years
X 3. 5 vyears
X 4. 4 years

Question ID : 65497816070
Chosen Option : 1

Q.3  AsumofT16,000 is divided between Rabul and Vinod. Rahul invested his sum at 7 3% p.a. for 4 years at simple
interest. and Vinod invested his sum at 12% p.a. for 4 years at simple interest. If the total interest received by Rahul and
Vinod together is T6.024, then the sum iuvested by Rahul is:

Ans X 1. 8,200
¢ 2. 39,200
X 3. 38,400
X 4. %9,500

Question ID : 65497816071
Chosen Option : 2

Q.4 Whar number must be added to each of the numbers 7. 4 and 2 so that the resulting numbers may be in a continued
proportion?

Ans o 1. 2
X2 4
X3 3
X4 5

Question ID : 65497816067
Chosen Option : 1




Q.5 If a number of pens and pencils are bought in the ratio of 3 : 3, then Ashok has to pay T44. If the ratio is changed as 3 :
5, then he has to pay T36. Find the ratio of the price of one pen fo one peneil.

Ans X 1153
w2 7:3
X3 8:5
X4 7:4

Question ID : 65497816069
Chosen Option : 2

Q.6 The given pie chart shows the monthly savings and expendimre inevrred by a family on various items. Study the chart

and answer the question given below.

Edusation

If the expenditure on housing is 1,680 more than that on clothing. then the vearly savings are:

Ans X 1. F34.600
X 2. 32,500
X 3. 333,500
& 4 733,600

Question ID : 65497816081
Chosen Option : 4

Q.7 Acylindrical pillar is 75 cm in diameter and 5.6 m in height. The cost of painting the curved surface of the pillar at the
rate of T15 per m” is:

['m,exz'*'?—?m
Ans 1. F108
X2 T195
X3 T180
X4 T188

Question ID : 65497816073
Chosen Option : 1




Q.8  The ratio of the curved surface area and the volume of a closed cylinder is 4 : 7. If its total surface area is 233 cm?, then
its height is:

[Tﬁke:t=zj—2]
Ans X 1. 9cm
X2 10cm
« 3 8cm
X4 5cm

Question ID : 65497816075
Chosen Option : 3

Q.9 How many minutes does Vishwa take to cover a distance of 1300 m if he runs at a speed of 26 kmv/h?
Ans 1. 3 minutes

< 2. 6 minutes

A 3. 5 minutes

& 4. 8 minutes

Question ID : 65497816059
Chosen Option : 1

Q.10 The given pie chart shows the monthly savings and expendimre incured by a family on various items. Study the chart

and answer the question given below.

Education

The central angle of food and education together is:
Ans 1. 218°
X 2. 206°
v 3 216°
X4 116°

Question ID : 65497816079
Chosen Option : 3

Q.11 The HCF and LCM of two numbers are 8 and 224, respectively. If the ratio of the two numbers is 4 : 7. then the greater
of the two numbers is:

Ans 1. 54
X2 32
X3 48
v 4 56

Question ID : 65497816076
Chosen Option : 4




Q.12 Inthe first 20 overs of a 50 overs game of cricket, the run rate was 5.2, Whar should be the run rae in the remaining
30 overs to reach the target of 344 mns?

Ans o 1. §
x27
X3 6
X475

Question ID : 65497816061
Chosen Option : 1

Q.13 Renuka got 1§ times as many marks in Mathematics as in English. Her total marks in Mathematics, English and

Science are 190. If the ratio of the marks in Mathematics and Science is 2 : 3, find her Science marks.

Ans 51 g2
+ 2. 90
X3 85
X< 4 88

Question ID : 65497816068
Chosen Option : 2

Q.14 The profit earned after selling an article for T3.600 is the same as the loss incurred after selling the article for 32,400.
The profit is:

Ans X 1. 25%
X 2. 32%
X 3. 30%
« 4 40%

Question ID : 65497816066
Chosen Option : 4

Q.15 4 men and 5 women can earn I8,800 in 8 davs. 7 men and 10 women can earn 310,250 in 5 days. In how many davs
will 8 men and 12 women sam I21.6007

Ans X 1. 8 days
« 2. 9 days
X 3. 12 days
X 4. 10 days

Question ID : 65497816058
Chosen Option : 2




18 What is the simplified value of 1.2 — (2 of 2) =1+ 2 of £ 42— (4% 19) + 63
16 5 32 3 T 50

Ans

x 1.

x 2.

- W |
o=

< 3.

4 1

Question ID : 65497817290
Chosen Option : 4

Q.17 The given pie chart shows the monrhly savings and expendinire incured by a family on various items. Study the chart
and answer the question given below.

Education

If the monthly savings are 3,000, then the total expenditurs on education and clothing is:

Ans X 1. ¥16.500
¢ 2 314,500
X3 15,500
X 4. T14,000

Question ID : 65497816080
Chosen Option : 2

Q.18 The internal and external radii of a hollow hemispherical bowl are 20 em and 23 em, respectively. Whar is the total

surface area (in tm?) of the bowl?

Ans X1 2082w
X2 1858 m
&3 1987 1w
X4 2194w

Question ID : 65497815168
Chosen Option : 3

Q19 The mean of the prime numbers between 20 and 45 is:
Ans X' 1. 3§
o 2. 34
X3 24
x4 32

Question ID : 65497816072
Chosen Option : 3




Q.20 . . . . :
An article was sold atz times of its cost price. The profit percentage is:

Ans

X1 33%%

v2 3329
3

X3 33204
5

1
X4 32-%

Question ID : 65497816065
Chosen Option : 2

Q.21 The total surface area of a solid right circular cylinder is 1617 cm?. If the diameter of its base is 21 cm, then what

is its volume (in cm?)? (Take m = %)
Ans & 1. 4851

X2 5228

X 3. 5324

X 43071

Question ID : 65497816074
Chosen Option : 1

Q.22 Dheeraj can cover a certain distance in 5 hours and 22 minutes by covering three-fourth of the distance at 5 kmvh and
the rest at 6 kmvh. Find the total distance covered by him.

Ans 1. 28 km
X2 30 km
X 3. 25 km
X4 26 km

Question ID : 65497816060
Chosen Option : 1




Q.23 Acando awoerk in 20 days and B can do it in 14 davs. If they work together for 7 days, then the fraction of the work

left is:
Ans

X 1.0
10
3

o2 . —
20

X3
20

xa L
10

Question ID : 65497816057
Chosen Option : 2

Q.24 @i AR o AfEF 3597 F1 42% s 9, 16% BT 9T, 10% Fee v it 7% oftmsw 9
T AT gl AT TRENE FEFER F FHOT 18,000 T FE F W 7 F v, W 0F WK
¥12,500 T FOT A TTT| TS WS 47 T STl

Ans 1 322,000
X 2. 324,000
X 3. 320,000
X 4. 325,000

Question ID : 65497816064
Chosen Option : 1

Q.25 130 successive discounts, the first being 14%% , Were given oo an article baving a macked price of T12,500. Finally, it
was sold for T9,403. How much was the second discount?

Ans x 1. lﬂﬂ/{)
< 2. 9%
X 3. 8%
« 4 12%

Question ID : 65497816063
Chosen Option : 4

Section : General Awareness

Q1 e # | e ier &) |frgd 99 af & 9 @ o ST ST 82
Ans X 1 TTATR

o 2. RIS

X 3.%<

X 4. e fRSiar

Question ID : 65497814872
Chosen Option : 4




Q.2 fodrar sregt A uraR ufare ol § § fea e # fRua 32
Ans o 1. TSR

o 2. RIS

X 3. HeRIY

X 4.9 U™

Question ID : 65497814891
Chosen Option : 2

Q.3 1975 H AP TUTAHTA BT GO S THY R & gufa Frafafaa & 3 o1 37
Ans X 1. TR g8

X 2. ek doe ARk
o 3. BETEIA 3l 3EHG
X 4. 7am doita ¥gt

Question ID : 65497814882
Chosen Option : 3

Q4 fmfiafaa & @ o9 a1 RiftreTa s1geiwigs 1T T 8?2
Ans X 1.7 &l § geeiiel gl g

X 2. 98 faggd &1 garas gar gl

X 3. Hg BBl

o 4. TTHT IS I Bl g

Question ID : 65497814886
Chosen Option : --

Q.5 P F P fhat UTpfers TS gid 872
Ans 1.3

X 2.2

X35

X 4.4

Question ID : 65497814885
Chosen Option : 3

Q.6 memmm%mmmm TSGR & AP
I

Ans « 1.91gH
X 2. ud
X 3.3MR<
X 4.7

Question ID : 65497814893
Chosen Option : 2




Q.7 YRHG TRY™ & JFIR, TY AP AT TENT HT T ¢ a4 31 @iy & g ar

¥ B oy T 1 9 U UG UR TET 8
Ans X 1.60

X 2.68
o 3.65
X 4.62

Question ID :
Chosen Option :

65497814883
3

Q.8 3RFufd INA T FRT HaTTod BH Fafied & § $H- 82
Ans g 1 THIMR gYd

X 2. 9% 3if® smfkw
7 3. MR THUY Ut
X 4. 9L AN 9E

Question ID :
Chosen Option :

65497814876
1

Q.9 3T 2020 ¥, YR THT TG & regel Fuferaa & 3 w9 32
Ans X 1.TH. JHa1AEg

o 2. 3 fasar

X 3. IR HAR

X 4. gee AEre

Question ID :
Chosen Option :

65497814881
3

Q.10 WRa & AP SuHieT fiaw Fa 7w ST 82
Ans X 1.26fad®R

X 2.26 AR

X 3.24 TdR

o 4. 24 R

Question ID :
Chosen Option :

65497816697
4

Q.11 wHTge TS TS BT dge A FEffRa f I a2
Ans X 1. PIR HIEAH sidss

o 2. STOA DI TeIZS

% 3. e PIfEw Sfiess

X 4. TegHitad St SiRgs

Question ID :

65497814884

Chosen Option : --




Q.12 il & & $i9 91 2022 F TRMTS Dal F USRS JUFR - '§ Wi Rudea 7

TS TE 872
Ans X 1. D=
X 2. fergHfera™
X 3. BB
o 4. fTed

Question ID

1 65497814874

Chosen Option : --

Q.13 g & A S-91 IT WA & SR TS gar 22
Ans X 1. SO SA%arsfed

X 2. dasw

o 3. Uifer

X487

Question ID

165497814888

Chosen Option : --

Q.14 YRt ga Y gféror snpiet, Har wwsh, el ard 2020 # sifow @i o, o g d

3R ANTET ¥ Y SiaRTdia wR R i et §2
Ans X 1. 3%TR Sifed

X 2. T faet
o 3. faumy fasm
X 4. Sfdier SrgHY™

Question ID

: 65497814877

Chosen Option : --

Q.15 HgIed UBISal T = 9 5w 7eg & Hefl g5 87
Ans X 1. JWRUY

X 2. 519G

X 3. 9IRTS

o 4. TA TN

Question ID

Chosen Option :

: 65497814890
4

Q.16 HfAT & TG 280 & e, WRd & et SMTGNT BT T g1 T e 1

Ans X 1.3uryufd

X 2. 3= I
X 3. I IR

o 4.9

Question ID

Chosen Option :

: 65497814575
4




Q.17 I+t FewTedt &1 Hay fFafafea & @ fora weawr & u1?
Ans X 1.90@

X 2. IHCH

2 3. ufde T

o 4. DDA

Question ID : 65497814892
Chosen Option : 4

Q.18 fAgferf@a ® ¥ S19 W1 Ug YRA & 9T WAl AV (Current Account Balance) Y W&l IR
TR g T8 Far 32

Ans o 1. o 3
X 2. fcwdgs em
X 3. fae=it wgrar
X 4. FOR 3R (¢ )

Question ID : 65497814880
Chosen Option : --

Q.19 e TafapaR ed fha Tea # fRa 82
Ans 1. TEET

X 2. TS
X 3. 3T YT
X 4. Rfdwn

Question ID : 65497814889
Chosen Option : 1

Q.20 frgfafad & A $19 91, TRuR® 0 F isdM R AR §u T3E § &1 arar
fearh wwe T 82
Ans X 1. HdllS

X 2. 31
X 3. SR

o 4.9s

Question ID : 65497814871
Chosen Option : --

Q.21 yerd #t Fufifad # @ 5T sawt & 9-3EEIH v & 9¥ & WY ST oIran 82
Ans X 1 Tqdf

X 2.3

X 3. fgda

o 4.TIH

Question ID : 65497814887
Chosen Option : --




Q.22 RydeR, 2020 7% @t AU & srFuR, FufifEa § & oF-a1 W sam, A
(UNESCO) 3 fay er¥ex It (wepfaep) & aifha 82

Ans X 1. I 1T I
X 2. iR ¥R 3
X 3. ot g Sg
o 4. FIdRd I ITH

Question ID : 65497814870
Chosen Option : 4

Q.23 fay &1 gaA R T gt PafifRa d s ar g2
Ans X 1.759 3"

X 2.9.09. 3T

« 3. fdaded

X 4. Sfieferm sfo=

Question ID : 65497814873
Chosen Option : 3

Q.24 gmﬁr@aﬁﬁﬁmmﬁﬁmﬂﬁzozo%mwﬁm%mﬁﬁﬁwﬁﬁm
?

Ans X 1.5 (CRY)
o 2. 3ITAT (ARMMAN)
x 3. Fde

X 4T

Question ID : 65497814875
Chosen Option : 1

Q.25 fyfewr oo & SR Fffea & @ @1 91 WiTed 3 i WreA! # ga-n d uga
Ry1fire foar Ut

Ans g 1 SR YA
X 2. wdT gES
X 3. gy Hea
X 4. JIMYH U

Question ID : 65497814894
Chosen Option : 1
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